12@0262 (K12a0262)

N, Linearized knot diagam
L, 6 7 11 9 2 12 5 1 8 4 10
o/

\ Solving Sequence

A knot d1agrarrE| Cio ¢4
Ideals for irreducible component#ﬂ)f Xpar

I = (8u*? —16u + -+ b+ 9, u?? =3+ +a+3, P - 2034 4 2u—1)

* 1 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

36 >2—>7->19->10>5—>8 > 11 >4 — 12 >> €3,C7,C11
C2 Cg C1 C Cs C, C12


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter
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I = (8u3?—16u®' +-.-+b+49, u??—3ud' 4...-+a+3, u3*—2u?*?+...42u—1)

(i) Arc colorings

o ()

0
ag = u
1
a2: u2
u
ar= \ud+u
u?+1
a1: u2
—u3? +3udt + - 4+ 10u — 3
ag = \ —8u?? 4+ 16u3! + - +27u — 9
43t —8u30 + .- +19u — 8
a10 = \ —4u®? + 6u3t + - + 14u — 4
3ud?2 — 1203 + - - — 244+ 9
as = 2032 — 33t .. —15u+-4
12032 — 3503t + -+ - —48u 4+ 17
ag = —6u? + 11w 4+ -+ 10u—3
12032 — 15u®! + - + 3u — 14
a11 = \3u3? — 11u3 + - — 220+ 12
wrtut+1
a4 = u6+2u4+u2

14u32 — 2303t + .- —9u — 8
a12 = \ 2¢432 — 93l 4+ ... — 200 + 11

(ii) Obstruction class =1

(iii) Cusp Shapes = 20u32 — 13u?! + 159130 — 58u2% + 575u2® — 25u27 + 1135u26 +
552u2° 4+ 1074u?* + 2154u?3 — 267u?? 4 4203u>" — 189610 + 47761 — 1567u'® +
2737ul” + 1151u'0 — 350u'® + 3593u'* — 1677u'® + 3251u'? — 624u'! + 9890 +
1026u° — 732u® + 1548u” — 975u® + 992u® — 556u* + 318u3 — 196u? + 35u — 42



(iv) u-Polynomials at the component



Crossings

u-Polynomials at each crossing

a1 uB —18u + - —12u+1
2 u =20t 4 2u—1
s w20t = 2u—1
Cq uBP e —u—1
€5 P +3uP + o+ 3u—1
Co w3 20t o 2u 1
cr w20t o 2u 1
Cs P —3uP + -+ 3u+ 1
Co P+ 50+ 4+ Bu+ 1
C10 w4+ 6udr 4+ 12u+1
c11 uB -4 —u41
C12 uB -5+ Bhu—1







(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 yB 282 48y — 1
C2,Ce B 18yt 12y — 1
€3 Y3 —22%% .. — 26y — 1
c4,C11 Y3 42332 4. 13y — 1
cs, Cg Y3 =37y 13y — 1
7 Y —10y3% + - 4 34y — 1
co, C12 yPP 42193 4. — 13y — 1
C10 y*? —10y* + - 4+ 30y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape
u = —0.415757 4 0.8797141
a = —0.310927 + 0.1169531 | —0.28049 — 3.92650 | —4.28046 + 8.455011

b= 1.245100 + 0.4477941

u = —0.415757 — 0.8797141
a = —0.310927 — 0.1169531
1.245100 — 0.4477941

—0.28049 + 3.926501

—4.28046 — 8.455011

0.889089 + 0.3414931
—1.334450 + 0.0449821
—0.835473 — 0.9251091

—6.37279 — 2.899791

—7.35601 + 2.745611

0.889089 — 0.3414931
—1.334450 — 0.0449821
—0.835473 4 0.9251091

—6.37279 + 2.899791

—7.35601 — 2.745611

—0.925009 + 0.1399201
1.47738 4 0.025031
0.640026 — 0.7130521

—7.59997 + 1.166321

—5.62381 + 0.534301

—0.925009 — 0.1399201
1.47738 — 0.025031
0.640026 + 0.7130521

—7.59997 — 1.166321

—5.62381 — 0.534301

0.362523 + 1.0243107
0.746326 — 0.4881141
2.02961 + 1.065951

—6.88884 — 1.472041

—7.24631 — 0.055251

0.362523 — 1.0243107
0.746326 + 0.4881141
2.02961 — 1.065951

—6.88884 + 1.472041

—7.24631 4 0.055251

—0.450656 + 0.7865751
0.026429 + 0.3366331
—0.047044 4+ 1.0530901

0.012283 + 0.3116641

3.64526 — 0.957831

—0.450656 — 0.7865751
= 0.026429 — 0.3366331

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —0.047044 — 1.0530901

0.012283 — 0.3116641

3.64526 + 0.957831




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= 0.699677 + 0.5261801
—0.998558 + 0.2214341
—0.310310 + 0.1953871

—3.61554 — 3.105511

—5.05153 + 3.454081

0.699677 — 0.5261801
= —0.998558 — 0.2214341
—0.310310 — 0.1953871

—3.61554 4 3.105511

—5.05153 — 3.454081

—0.461345 4 1.0313801
= —0.309219 — 0.5309001
—0.588642 +- 0.4984591

—1.18585 — 3.179801

—8.28309 + 4.122121

—0.461345 — 1.0313801
—0.309219 + 0.5309001
—0.588642 — 0.4984591

—1.18585 + 3.179801

—8.28309 — 4.122121

0.319392 + 1.1394101
0.801591 — 1.1282701
0.645311 — 0.002396.1

—10.97950 4 0.066821

—10.54672 — 0.141431

0.319392 — 1.1394101
0.801591 + 1.1282701
0.645311 + 0.0023961

—10.97950 — 0.066821

—10.54672 4 0.141431

0.567598 + 1.0732401
—0.024768 — 0.6812791
0.029381 — 0.5761701

—5.33194 4 8.007761

—7.58671 — 6.677401

0.567598 — 1.0732401
—0.024768 + 0.6812791
0.029381 + 0.5761701

—5.33194 — 8.007761

—7.58671 + 6.677401

0.213741 + 0.7475291
0.44378 + 1.360821
—2.65599 — 0.826481

—5.67246 4 4.091641

—1.47347 — 8.318891

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

0.213741 — 0.7475291
= 0.44378 — 1.360821
= —2.65599 + 0.826481

—5.67246 — 4.091641

—1.47347 + 8.318891




Solutions to I7*

V=1 (vol + y/=1CS)

Cusp shape

= 0.044555 + 0.7630291
0.26951 + 2.297581
—1.035990 + 0.5069271

—8.91211 + 1.561451

—7.74657 — 2.976811

0.044555 — 0.7630291
0.26951 — 2.297581
= —1.035990 — 0.5069271

—8.91211 — 1.561451

—7.74657 4+ 2.976811

= 0.454510 + 1.1533401
= 0.284320 — 0.9583561
= 0.99905 — 1.930651

—3.43511 + 4.061641

—1.84707 — 3.290801

0.454510 — 1.1533401
0.284320 + 0.958356.1
0.99905 + 1.930651

—3.43511 — 4.061641

—1.84707 + 3.290801

= —0.369754 + 1.2045301
= —0.469785 — 1.2391701
—0.478866 — 1.0690801

—11.94570 — 2.891251

—9.51390 + 3.404601

—0.369754 — 1.2045301
= —0.469785 + 1.2391701
= —0.478866 + 1.0690801

—11.94570 4+ 2.891251

—9.51390 — 3.404601

= —0.491464 + 1.2247801
= —0.115049 — 1.1206501
= —1.80600 — 1.712441

—11.05150 — 6.201491

—8.51895 + 3.784821

= —0.491464 — 1.2247801
= —0.115049 + 1.1206501
= —1.80600 + 1.712441

—11.05150 4 6.201491

—8.51895 — 3.784821

= 0.570176 + 1.1909501
= —0.053100 — 0.9856451
= 1.63829 — 1.283171

—9.06173 + 8.293881

—8.92407 — 7.110501

= 0.570176 — 1.1909501
= —0.053100 + 0.9856451
= 1.63829 + 1.283171

> Q& €| & €|l & €| Q& €| 2 &) Q@ 8| Q@ €|l & €| & €| & &
I

—9.06173 — 8.293881

—8.92407 + 7.110501




Solutions to I Vv—1(vol + +/—1CS) Cusp shape

u = —0.316420 + 0.5653991

a= 0.460695 + 1.2264701 0.381875 — 0.4296771 | —0.97944 — 3.236461
b= 1.380710 + 0.2720671

u = —0.316420 — 0.5653991

a= 0.460695 — 1.2264701 0.381875 + 0.4296771 | —0.97944 + 3.236461
b= 1.380710 — 0.2720671

u= 0.618289
a = —1.78836 —0.353891 2.66570
b= 10.301684
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II. u-Polynomials

Crossings u-Polynomials at each crossing
1 u —18u? 4 — 120+ 1
€2 u =2 o 2u—1
€3 uB 2t —2u—1
€4 W uP e —u—1
s u® +3uP? 4 4+ 3u— 1
6 uB 2 o 2u 1
7 uB 2 2u 1
cs W 302 4 31
€9 u +5uP? 4 4+ Bu+ 1
c10 u +6ut? 4 4 12u+ 1
11 . - T |
c12 u® —5ut? £ 5u—1

11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1 v 232 418y —1

C2, C Y 18y3 4 — 12y — 1
€3 Y33 — 2243 .. — 26y — 1

€4, €11 y?? 4+ 2337 + . + 13y — 1

cs, C8 Y =37yt 4 413y — 1
cr v 104532 - 4 34y — 1

Co, C12 B4 21y%% . — 13y — 1
€10 y*? —10y*% + - + 30y — 1
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